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'+ Before answering the questions, read carefully the instructions given on the OMR 8
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SECTION—I : MATHEMATICS

Which of the following rational numbers has terminating decimal expansion?
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2. Which of the following is not an irrational number?
& (508 TV $8edan Sopy 906 982

1) 2 2 3
Ja 4 5

- If pand g are two positive integers such that p= a3b2 and g= ab?, where a and b are prime
numbers, then HCF (p, g) is

P 080 g Botd GII™E Somgen p= a®h? Hr8okn g = abd, a 2Bato b ev (555 SoRgeD. BANDEIBD

Kr.2», (p, q) = .
A 2) ab?
3) &b3 4) @b
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. The sum of exponents of the prime factors in the prime factorization of 196 is

2

V.

196 QoY) 1357 seSerol DgfmdS’D Sraroste oo
- 1
(3. 6 . AR

A
AL

According to the fundamental theorem of arithmetic, if p (a prime number) dmdes/cf e

ais +ve integer, then

éa €35 2n008 Darotio (55760, p &8 G Sowy B a 28 & g Bows SaNTHE % p Fsiore

U"{, a? divides p

qhwc@

p % a dHorr grRes
p divides a
a & p o grRos

(3)

log2 + 10g£ =log(a +b), then
b a

log% 4 1og-§ = log(a + b) eond

(1) - a+b=1

P
— \l(/(ﬂ‘i/a =b

(4)

4)

'ch of the following collections is not a set?

4
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p a? D%:loﬁ‘ AR08
None of these

399 5°D M

a-b=1 =
None of these

DD 5D

m Bo8 SHmrored® 28 S8 57 ? S e
1) The collection of all boys in a class _ _
T oK SERBESD e0E) arend SHTRo =N &%
K N =
(2). The collection of all even integers . -
83& o8 @"Q dogge Pdoaroho
The collection of ten most talented writers of India
fdé&oﬁb eds0 (5BgrS08S 10 5008 850080 PHPIPo
¥ None of the above
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8. Match the following :
808 399 BIBIBBL
(@) Null set__
L

(b)  Singleton set 2

¥ Karel SO
(¢) Infinite set
850 HH

(@)—(i), (b)—(ii), (c)—(iii)
(@)—(&), (b}—(i), (c)}—(iii)

(1)
)
. If A and B are disjoint sets, then

)" {x: xis a real number}

~ {x: x 038 2.8 TYH SoR)s)

(i) {x:xis a whole number and x < O}
' {x 1 x 03B 2.5 Jroposan 8o x < 0}
(iii) {x:xis an even prime number}
{x: x 038 28 B8 @Herd Do)

@) (i), (i), (—G)
87 (a—Gi), (b (i), (c}—()

e

\/- A 4
A 28ato B &R Dokl SHess, >
. a /‘.l--ALi Y
(1) AnB=A (20 AnB=B -

ANB = {0}

A g 3) )(4)/ AnB=¢! o l%‘
@ a class of 60 students, 45 students like -i;;:sic, 50 students like dance and S/Smdents

like neithgr. Then, the number of students in the class who like both music and dance is’
f@_moa degiien Ko &8 SEKBE° 45 5008 bm§$geéa Sofigo €08 ago, 50 o8 Dorgiiet Texo eod.
3go SBav 5 o8 bméq.;e)éa e Bodoe3 Doy Ao 8¢5, ®ad Sofdo Bt T30 Bodoedd 'agé&
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(2) 40
(4) 55

(1L 35
(3) 50
-
11.51f A and B are two sets such that AUB=AANB , then which of the following is correct?

A=9
A=B

\ (1)

&0 (308 7S DB 2TVIB 5?2
(1) 3x*-2J3x+5

+ Which of the following is not a polynomial?

e s

‘ A 308ax0 B &0 Boti S20een AUB = AN B edhtotnm Hois & o8 e’ PBALRB DB?

o By pnts *:‘ ) |

(4" None of these =) 1. e
ERARSN) ! iz /% ﬁ&q
ii]‘ﬁt L 'D‘if
-— ;. \

(2)  9x? -4x+2

3 5 3 1 [ .,){ 3
—x’+6x°——x-8 ! / X+—
@8 p* - Jiariy
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"1a. The degree of the polynomial (x+ 1)(x" - 28 0
: (4N = x4 x* = 1) &8 wirosh sy, B0 f{bf .

(1y 2 20 2

3 4 4y 5

_ If the sum of the zeroes of the quadratic polynomial ki? + 2% + 3k is equal to the

its zeroes, then the value of k is

k® +2x 4 3k &8 55 7058 Gy g Toxgo 4y ok BB, k o

wiN

2
(m -3 (2)

g

1
L 3 (4)

W=

. Number of zeroes of the polynomial in the graph shown is

product of
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16. The value of k for which the pair of linear equations kx - Y =2 and 6x -2y =3 has a unique

solution, ig

hx —y =2 9Bk 6x -2y = 3 8hat dhousere mok BY D5 ipotioests k Dewss
(1) k=3 2y k=#»3
3) k=0 4 k=0
17. The pair of equations Yy=0and y=-7 has
Y =0 8o y = -7 $Q8seme ey
(1) unique solution (2) two solutions
.bg_g D Hotwos Both Aripden Hoeran
(3) infinitely many solutions (4) no solution
08 e¢soen Hoerron G Dok

18. If the sum of the ages of a father and

is 50 years, then the age of the father in years is

28 $0|d DHBALY @8 BB Sabre o 65 SostTres BBt T8
OSETTOD SATIDB Soid o) Sabiy

(1) 45 (2) 40
(3) 50 (4} 55

I_%_The 15th term of an AP-10,-5,0, 5, ... is

- -10,-5,0, 5, ... @05@ES° 155 $5e5500

. (1) 55 (2) 60
(3) 65 (4) None of these

Q) 5°Y

20. If the first and fourth terms of a GP are 1 and 27 respectively,

his son is 65 years and twice the difference of their ages

:Soiam‘)oéo:)éago:pso

then the common ratio is

28 DEaEGES’D 3006563 B Trenksd Seren SEHST 1 S8y 27 ©8od, & 38 0% oSy SN )

(1) 2 2 4
By 3 (4) 6 .
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21. If @, b, care in AP and X, y, z are in GP, then the value of x*y*“ 2" is
a, b, c e Wo¥REGS® B X, Y, z &0 HHRES® {)):\’aer\zoné xelyle-a212") Gk Dewsd
(1) o 2 1
B) xyz b (4)  x%Pz¢
22. The distance of the point P(2, 3) from the x-axis is (in units)
P(2, 3) Dot x-09¥0 M0d Ko &30 (hordeys®)
(1) 2 (2) 3
@) 1 4 S

23. The quadrant in which the point divides the line segment joining the points (7, —6) and (3, 4)
in the ratio 1: 2 internally lies, is

(7, -6) BA (3, 4) DothiHed Sevd Bxrpomd) 1 : 2 DHYS’ vosborr 50D Dotp Ho& o

(LY~ 1st quadrant (2) 2nd quadrant
osed Do BoS oo

(3) 3rd quadrant (4) 4th quadrant
A0eES &0 mgaﬁ o

24. The triangle formed by the vertices A(-4, 0), B(4,0) and C(0, 3) is
A(—4, 0), B(4, 0) 08ain C(0, 3) %gwm Ko |&gheso

(}) isosceles triangle (2) equilateral triangle
PBeerTd (Bgheso SderTv |Bgheso

(3) scalene triangle (4) right-angled triangle
Ddoera (Beheso o025’ Beheso

25. If A(-1,2), B(2,-1) and C(3,1) are three vertices of a parallelogram, then the fourth vertex is'
A(-1,2), B(2,-1) ®8ato C(3,1) Dothpen 8 Hross Seryeo Bl Hard ey @and, oo

TPeuid B0
(1) D(-2,0) (2) D(0,4)
(37 D(-2,6) (4) D(6,2)
- — -
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26. If the slope of the line Jjoining the two points P(2, 5) and Q(x, 3) is 2, then the value of xis
P(2, 5) 8a%v Q(x, 3) DotHHesd Sen Ba aoy Tven 2 Bowd, x Jes

(1 1
3 -2

2 2
@ -1

27. If the points P(2,3), Q(5, k) and R(6, 7) are collinear, then the value of k is
P(2,3), Q(5, k) 2Batn R(6, 7) Dotopen $8Pairdd, k dens

1
1 2
(1L 4 (2) -
3
@ -3 4 6
28. | i ; AD _3 -
. In the given AABC, if DE || BC,E=§ and AC =5-6cm, then AE =
ad® AABC & DE!|BC.—3—§=§ $8af AC =56 Bo. .0 sond, AE =
A
D E
B > ¢
(1) 21cm (2) 2cm
2-1 vo.%. 2 20.2.
(3 22cm (4) 42cm
2:2 o.2. 42 20.%.

29. If the lengths of the diagonals of a rhombus are 30 cm and 40 cm, then the side of the rhombus

18

28 S5 S8y o (oro2)R) GBoY), Sore DeeiHen 30 20.20. DAL 40 0.2.e0 8a08, T EHEO IE

(1) 15cm (2) 20cm
15 0.2v. 20 20.2b.
3y 25cm (4 30cm
25 2o.. 30 o.3.
E 3 'SPACE FOR ROUGH WORK /D398 e
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30. In the given figure, O is the centre of the circle and £AOC =110°, then LADC is equal to
2QyS Seros, 3y doo 0 80 ZAOC =110° ecmé ZADC =

D

(1) 110° (2 55° VE ¢ l

3) 70° (4) 125°
1. If a point Pis 17 cm from the center of a circle of radius 8 cm, then the length of the tangent

drawn to the circle from the point Pis
8 20.20.0 5o o 38 oo H0& P & DotoP 17 wo.ib.o 85608 H5ond, & Dol ook
S)yBed8 Rabards 5y589 26D by
A ) L ﬂ
£l .
8 cm b f
2‘_/,’1:' |
: " y - S
y P 17 cm & N \H
P /
!y{ :
(1) 10cm 4 4 (2 12cm
0.8, - / 12 202
15cm 4) 14cm _ L
{ &)
15 20.2v. 14 20.20. ¥ X9
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- If COSA'—‘-;-, then the value of tan A is s
-“"-'.
COsS A = = &a3, tan A dens P(
3 \\ / 3
= ™
4 5
G 3 4 5
¢ cot45° .
3. The value o sin30°+ cos 60° 1S equal to |
cot45° _—
sin cos60° % 4 -
\ 1 o e |
Wt ) (2) J2 | )
2 1 ———
(3) 'é' \ b (4)~ E ———’2“:‘-—
34. The value of tan2°.tan4° tan6°... tan88° is %
tan2°.tan4°.tan6°... tan 88° Bw¥), e K
(1) o 2 1
B 2 (4)~ Not defined 5 iy
3683052.)(2&5) ~ N
- If tan@ + cot® = 5, then tan®6 +cot?8 =? ({-_a\@ ;_(cé'--f%’t
tan@+cotf =5 ©®ond, tan?0 + cot? 0 =? i ) & e
i 7 % \ 7 i3 Ly g
(15, 27 . , (@ 25 0 et ® =1
3 24 1% (4 23 . y
A 2.5
a2 b2
36. If x=asin® and y =btanh, then the value of ;2-—? is ; Q : ®
a? b2 { fL--"t‘. b OO @ | €« 7 )
x =asin® HB0in y = btanh eand, 27 deod |
y : r - L
iy 1 (2 2 . .5
B -1 (4) None of these *
33D 5°Y
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37. If secO + tan® = x, then tan@ =

secB +tand = x ®od, tand =

x?+1 X =1
e = @ =
2
X +1 x -1
@ = 4 %
B8 sin@ _
" 14cos@
14 cosB /1-cos®9
)y =5 = (2) SoRD
sin 6
1-cos@ 1+sin®
[;, ' sin® (4] cosB

39. If the ratio of the length of a pole and its shadow is 1: V3, then the angle of elevation of the -

sun is

( \\ (2) 45°
@ 60° /.hg (4) 90°

40. If two towers of heights h; and h, subtend angles of 45° and 30° respectively at the midpoint;

of the line joining their feet, then the ratio of h; : h, is

h, 2805 hy Jeen SORS Both AHTme eID gy 59D SEu8s g%y DotD o0& T8 D grmred 457

B 30° &g S'exren JBYBDD h : hy =
(1) 1:43 (2 J3:1

3 1:3 4 3:1

41. Which of the following cannot be the probability of an event?
& 1808 TDS" 2.8 erd Bk SogrSgs SAB B2

7
. -

1

@ = P 2) 03
3 - “'. ":‘\r 7
(3) 33% @ ¢

s~

i&mﬁa@ 20B00 TR D 6o DB 1 : /3 ©0wB rtdgd Sewen 407208 Dy &egc S es0
30° -
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42. If a card is selected at random from a deck of 52 cards, then the probability of getting a red
face card is

52 DEI0Ken Ko 1.8 K 0d QU8 DSor &8 S BAHIT &8 Y Bolb By S @I Ke Sogrdgs

3 3
W 26 B =

2 1
® 13 @ 3

Two dice are thrown together. The probability of getting the same number on both dice is

Both 320805 308 EGom . 763 B0greD &3 Soggio Frotsiie Bogrissd 4
1 1
W 3 2 @ 3
l" . f’
)( d 20 N 1
B 5 : @ 15

44./A box contains 3 blue, 2 white and 4 red balls. If a ball is drawn at random from the box,
what is the probability that it will not be a white ball?

25 DPS" 3 D00, 2 BewH WA 4 IO B0l wodoes 0. & DY Mwod alreyIy¥orr &8 woBD BHSHED
68 BevY 208 SPEIEIES Ko Sogrge &

B0 e Do
\'-1? =

3

ol

1
M 3 ) 2 @

I} S]

7 I 4 e
@ 3 & @

| . The mean of 12 numbers is 19. If 4 is subtracted from each number, then the new mean is

12 Sopye 1w 19. B8 Sopy 08 4 > BIIADHT By €% SHew

A,
A

My 17 ' e (2) 23

@) 21 & @ 15
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46. If the mean of the following data is k(> 0), then the value of kis
& 808 DGR B0 Bk, drew (0¥ eggiSoo) k(> 0) eod, k Desd

——

Marks k 4 k 8 3
St
Frequency | k | 2k | 3k | 4k | 5k
b&%o
(1) 10 2 8
3 5 4 4

47. If a data has 25 observations (arranged in ascending order), then which of the follo
observations represents the median?

e56%e 5006° 60ByS 25 304008’ K& saodod & $od DS’ Doy 3880 R APy
(1) 12th @2y~ 13th
(3) 14th 4) 15th

48. If the mode and median of a frequency distribution are 5 and 10 respectively, thep

B mean is _
2.8 DRy DeTersind” eriToUEin HBA egHEiven SOV 5 HBabo 10 0B, T €08 ks
Dewsd
(¥~ 75 (2) 105
3 125 (4) 25

49. Which of the following cannot be determined graphically?
F,
& 808 TAS® A (v oo Ao diw?

(1) Mean (2) Median a
S0E50 S06s15s0 |
(3) Mode (4). None of these
ePTHEE0 [ 5°D

y 1 ) \ £
50. If the mode of the data 2, 4, é, 7,5, B, 10,6,7,2k+ 1,9, 7, 13 is 7, then the value of k
2,4,6,7,5,6,10,6,7,2k+ 1,9, 7, 13 &870¥0 Goo¥) erudssn 7 @and, k Devd

1y 7 £TRP (2 3

@ 4 | 2 ﬂj 4 2

/" SPACE FOR ROUGH WORK /26508 gt
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SECTION—II : PHYSICS

! \/51 1cal=

136'6 =
{ 10004 (2) ,27315J
3) 80J W 418J

R~

- Which among the following behaves like heat store house for the earth?

D &35 roGTroreNT 55808
(1) Trees (2) Minerals
3ey »Iee
(3) Factories (4) Oceans
soyrore DIFIB0Ee
L\ 53. Pick the correct match :
PO BEIEIE) dAnEod :
Substance Specific heat (J/kg-K)
Sorgan e (&/ L.oe.-3)
(@) Water (i) 483
A
() Glass i) 4180
e yr
(c) Iron iii) 504
D30
. (¥ (a)- @), (b)- (), (c)- (i) (@) (a)- (@), (b)- (i), (c)- ()
\/ @) (@~ (i), (B)- (), () i) @7 (@~ (ihb)- ), 0~ )
' 54. Formation of dew on the surface of a cold soft drink bottle kept in air is due to
mOE° 0D 2.8 3D J FRNADY A VYD EATOH SBEI0
(I) evaporation (2) melting
Fripussto ' B350
3)_~ cbndensation (4) freezing
0B850 DAEISS0

SPACE FOR ROUGH WORK / Q@@S%&D
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//85. The heat energy supplied to a system during melting is known as

VD30 JoBeaped & IO eosIokn Gy ¥

(1)  specific heat /% l;tent heat of vaporization
DR w53 10280

By iatent heat of fusion (4) humidity
sesss roasgo g8

Vé The device used to measure the specific heat of a substance is
&8 m‘go ﬁw%mégganm 505608 Treh $BESHEL

(1) micrometer (2) spectrometer
g:@bmdn 0§ et
calorimeter (4) barometer
35° 800> e85 et

57. If i and r are the angles of incidence and refraction respectively, then i < r means the ligh
ray travels from -

i B0 7 e 583 HBADL I 8IS Serren B i< r @I 5708 88890 (HOLTE30DIB ;

(1) denser to rarer medium [2)" rarer to denser medium

oB5B8 od DBV ADeNSERS DBS aRE0 ok VeoBSBH
!
(3) throughout denser medium only (4) throughout rarer medium only *
SBIT 0B QIS S BT D68 ATRES® AT '

&58. The physical quantity which has no units, is

Saeeren 8 8L oo : k
radius of curvature (2) wvelocity of light |
o SEE® TogReEE0 5°08 IKH00
(3) focal length \Aﬂ&/réﬁactive index
AN 5182555 Hoeato

SPACE FOR ROUGH WORK /d&:308 RN
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[ Q-
% T Gy ﬂ;"'f'V-‘,?’%j" 1

§9. A rectangular tank of depth 2 m is full of water of refractive index % When viewed from the
top, the bottom of the tank is seen at a depth of

4
2 2. &% SDAS v B Sebvissp 5, 3 984555 0650 Des KDAS He3E® B Dod a58. 239
06 SrdVYD, EG etrld e ¥ & (m/
, 1'5m

1) 266 m
(3 133m 2 4) ! 333 m

. When we sit at a camp fire, objects beyond the fire are seen swaying. The principle involved
in it is
B0 7500 DB 3000 L1y, & Woks BE D 61 ISP Sherdoepn edDaos. S22
doeoPodS 15 8ah

(1) refraction (2) reflection
51859550 BSOS
(31/ total internal reflection (4) dispersion
XJOQJ‘U;O@CS Jo°HBH0 DEHe0
61. If Aand Bare the speed of light in a medium and refractive index of that medium respectively,
X then
A 3oBain B en SHIT 2.8 078506 5208 SKo 5080%0 e alrsso ding&::@aszsxa roeaseen 900d
(" Ais low when Bis high (2) Ais high when B is high
B .:)E)Eé, A 855 B 353@6, A 255
(3) Ais independent of B (4) None of these
B A 858564 9 o)

The refractive index of glass with respect to air is 2. The critical angle at their interface is
9 SBorr rrer Soegsn Gy, S8 Heso 2 @od e alrsse 36 Sato S0 3¢ P08y S0

1) 90° (2) 60°
3y 45° (4)  30°

. The symbol | used to draw the ray diagrams indicates
8502 eren Rahiod® | 1) B BdaHSios2?

(1) concave lens (2). convex lens "
DeTse8 Sevso K057 Seaso ~ o
(3) plano-concave lens (4) plane mirror i >0
3 DO YHEIPS*E S50 DB étj_)eao
SPACE FOR ROUGH WORK / DI @;.{‘);’m
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. If y and % are the object and image distances due to a convex lens
focal length is

respectively, then

y S0Ban % &0 &5 0gTse8 Kea¥o a3¥) I3y SoBasn wdDow &reo°eL e000d es Keo¥o G30E)T°ET508
S5y 4y

) | @ 5
Y 3y

' = @

65. A lens bounded by two spherical surfaces curved inwards is A ‘ '
S"30 9% S0 &) Botks seroi SBA &3) ek D
/ e i i
(1) double concave (2) double convex 5 \/ A N

&35 ersey 8g ¥ogrseY ‘” |
(3) plano-concave (4) plano-convex - g
B PHerss Doee Hogrsey d ", 8

66. A convex lens gives a virtual image when the object is placed on the pﬁnciﬁéﬂa.xis
PTTEoD Q A0 5 SDA S0VIHE, Hogrs™y Se¥o gry HAHoerD) 3No8?2

(1) at infinity L _____L
©308 K0S o Y 8
(2) at the centre of curvature & L‘t
S8 Soo 3¢

(3) beyond the centre of curvature
SEee Soo ede

(4 between focal point and optic centre
:l.ra)o‘b Doty 080w &) oo Hogss

. Which among the following pairs represents optically transparent and opaque media?ﬂ

5208 #566535 0B8ai0 9&565635 oeSsrenm™ Ko e30é) :5m°cg;en

(1 Water, glass (2) Water, ice
,!b&’ reee D, 300
h 8) Ice, clay (4) Clay, wood
300, 208 e 208 63, DY

*
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8. If Ry and R, are the radii of curvature, n
the lens maker’s formula is given by

is the refractive index and fis the focal length, th‘e'n

R, So8asn R, eo 38 a"é@vcge_n, n ..’)Lgt;f&’)é Mom¥o H8aty f Tergots8o @and SeY saird Ao

=n-yl L_-L
(1) f=(n ll(R J

1 2
1 1 1
el
f R, R
9. In case of myopic defect, the image is formed
(R Cﬂq)a &S0t ©&Doeo bq)d-.) RSB

(1)  before the retina

Be3e8 3000

(3) on the retina

28R
(3) cornea

5‘8&011‘

2.5 Seo¥o oﬁnébﬁvmgéo 2:5D, o7 mwéoééain
(1) 10 cm
(3) 30cm

()

4

Y~ after the retina

(4)

(4)

1. The power of a lens is 2:5 D. Its focal length is

(2)

A4
%;focal lenses used to correct the defect of vision are called

Bedae $o°ges

Does not form an image

8Dowo Iy

ciliary muscle
28018 Sosoren

aqueous humour

AESE (&S0

25 cm
40 cm

D csq)g}zs“aoaa HBIAeH Bg-Tgr5088 50050 T ?

/} :

r
¢
4

h/ 38m° s

0. The part of the human eye which helps the eye lens to change its focal length, is
8063 Doy ea06s® Koed Keako DeeIg0BT°R) S0mtNnE 06" HIFADBED griaw
(1) iris 2y

3 A {

(1) hypermetropia (2)~ presbyopia ; Vi
5350;1 Serco P 3 fmt:
(3) myopia (4) None of these
(g SR QI 5°%) I IO
SPACE FOR ROUGH WORK / D508 30 g
1 L ; D Jltl,_.tl 4&"1"’}’
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. Pick the correct answer from the following two statements :

1808 Botd TeEgh0e od K)B&".bé SATEEH0 JoDE Bohod

»

(@ In VIBGYOR, wavelength increases from violet to red.
VIBGYOR &° BB Sear 5008 JHHDH DHIHE0H

(b) In VIBGYOR, refractive index increases from violet to red.
VIBGYOR & 384553 Hoeatio e 308 59 Hordeod

(1) Only (a) is true (2) Only (b)is true
(@) S deso (b) 3@ deo

) Both (a) and (b) are true (4) Both (a) and (b) are false

(@) 28050 (b) Botsr e (a) 558050 (b) Botir 8B

4. The formation of the rainbow is due to the dispersion of sunlight by the
Ardsseod $o8 636" DESE90 Dot0 IOP RO 8Ky BB

(1) dust particles (2)© water droplets
B9 Kezoen e3 DooHen
(3) N, molecules ' (4) inert gas molecules
;g N, S88re0Hen eIty SEATENDD
5. If i, and i, are the angles of incidence and emergence respectively and A is the angle

prism, then the angle of deviation is given by

i) S8 i, €0 SHVM™ 36 §'e30 B0 wArerd Sermen HoBokn A SigS 820 @08 D0 §°
) (i+i,)-24 @ (i+i)-A
@ A(i,-1,) 4 A(i+1) LA

. The quantity which has the unit ampere-second is

&30DaDNE-23X (Pdoresor Ko g HS ooB
(l’i/ electric current ™, (2) electric potential
D5 o T g Doy S 2BYANS
ﬁ electric charge ; @ ’Ielectromotive force
DesosT B0 Dy Bmel wesw 1

SPACE FOR ROUGH WORK /&8 a;m»
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(W 4166 Q (2) 250Q

3 24Q ey 576 Q

78. Electric fuse is used in household circuits for the purpose
20638 KXo DS Soatrest IE ag¥o

(1) measuring electric current (2) maintaining all appliances in series

DS BIro Fongad ) HBEo°OR @3 Yoo’ dosES

(3" preventing damages due to overloading (4) decreasing resistances of the bulbs

.'1 ¥
L3BS°E So ¥OR BEad) DBosee08 Dssd weye &' Fron BRoSEIE S .(‘} 4

; 1L
79. F‘ou‘r resistors each of 2 Q are connected in the form of four sides of a parallelogram. The' /
equivalent resistance between any two opposite corners is

257583 2 Q dens Ko arevid A oD o8 D808y Se8xeso @l Trenrd Zharenr BT, DD

\

Boc> 3583E Saree s sotd 5O D60 ,2[3
1) 1Q 2 290 \ \LLA/O
B 4@ 4 8 \ 4~ |
80. Ohm’s law is applicable to 3 Jo,,,%ﬁ; /"f:‘
£ DALy (808 738 3803 By ik /"’7/ -:
- (1) gaseous conductors (2-)""‘ semiconductors | \¥) X
TPl TeTSTeD eagm?’ws‘en
(3) metallic conductors - (4)  light emitting diodes
&P T Be5 Ie30R EBrEen

81. Resistance of a wire of length 0-5 m and area of cross-section 1 mm?2 is 1 Q. The resistivity
(in Q-m) of the wire is

05 m 2% 508k 1 mm? 504553y wreso SRS BK 6% 1 Q. e B P AT H3W (Q-m o)
(L) 2x1073 (2) 1073

@ 2x10°6 (4) 10
SPACE FOR ROUGH WORK /9e508 R0
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82. The area of current-time graph gives
D @ro - 5700 (T3 G, DT ogisn adnS0

M7 potential difference (2) specific resistance
309 dc D DB a0

(3) electric power (4) electric charge
Desogh Fogiso D35 450

83. Two resistors of 3Q and 2 Q are connected in series and a potential difference of 5V is
applied across them. The potential difference across 2 € resistor is

3 Q 5580k 2 Q D60 EORS Botk A6 Gres @ Sogrio 30 s 5 V 282006 daeis SeolD 7.

2 Q DE°GD8 doto 2BYa0d da
(1) 2V 2 1V
3) SV (4 30V
84. Of the two bulbs in a house, one glows brighter than the other. Which of the two has larger
resistance?
e.saownoaod:mmaoé‘asém&ﬁngmasan@s-ﬁnoéommmxﬂa.aaoaoéé‘aw
630 Ko we)
(1) Brighter bulb (2) Dim bulb
(H5EI0805 weayy 08T 63 we)
(3" Both have same resistance (4) Brightness does not depends on resistance
Bo&eS DB esA0 BSBIHD (57803630 DB G0 SErEIEM

85. Pick the correct answer from the following two statements :
@oﬂaocﬁaméemo&mﬁgﬁmméanmooﬂﬁéoﬁao&:
(a) Kirchhoff’s junction law is based on the conservation of charge.
&0 o5 Dahioo eBTe Dsés DoHITR) BB
(b)  Kirchhoff’s loop law is based on the conservation of energy.
§o7;> oo DaHdvo #E Vgt DB 30580500

(4~ Only (a)is true (2) Only (b)is true
(a) 5571653 ez (b) S5 Dzsso

(3) Both (a)and (b) are true (4) Both (a)and (b) are false
(a) £58a53 (b) Bokr D=8 (a) 358050 (b) Bo&r &3S

SPACE FOR ROUGH WORK /26528 A
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he electric power (i ' ;
¢ gf 30 days isp r (in kWh) consumed in operating a 60 W bulb for 3 hours & day in a month

%
60 W 20850 10 00y 2.8 Eares 3 Howen &SRy, 30 Bleren fio dod* IO eabs duogh 8

(@'ey foweos?)
) 2'7 (@ 54
) 4) 36

g7. On increasing the temperature, the resistance of copper and germanium respectively
&S ORI, 5796 S8k és'c'sd:)oi)o D& Gren HBP

(1) increases, decreases (2 decreases, increases
DHIHOB0Y, SiHE08 18008, Risselivels
! (3) increases for both (4) decreases for both
5 Bodoe3& IHEE Bodoe3d #rEod

88. 3 volt x 4 coulomb =

(9/12 watts (2) 12 amperes
12 3re 12 e30D008

(3) 12 ohms (4) 12 joules
12 & 12 &6

89. Three resistors of 1 Q, 0-1 Q and 0-01 Q are connected in series combination. Their equivalent
resistance is

1Q, 0-1 Q HBatn 0-01 Q Devded Ko S0 Aok BE3 SoGERo A3, To¢3 HOB 8 %o
W 1119 2) 12Q
3) 2:01Q 4 2:1Q

90. The scientist who proposed that the metallic conductors contain large number of free

electrons is
&Y Trrsred’ s .‘()oq.)§é€ ?‘)‘SD‘:D JQL%KDED €060 |IBD>B0DS «?‘gﬁg |
(1) Oersted (2) Ohm
awﬁ'&& 5.5
(3) Kirchhoff (4~ Drude and Lorentz
o (Goe& o8k erBod
SPACE FOR ROUGH WORK / aqgaag ggm
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SECTION—III : CHEMISTRY

i
91. Which of the following is not a chemical process? [
808 T3S’ SaD3 55 596 587 |

l

(1)  Rusting of Iron (@ Changing water into water vapour
R0 HOIPIeE0 D DB HBGE0

(3) Mixing metal acid and base (4) Bakinga cake !
5300 B FEIDD vy 46 B8R E

92. What is the value of X in the following balanced equation?
85 1808 ooy BRADY SES" X Dens Jod?
YH, + 0, - XH,0

50 e ?

(1) 4 2 3
@ 2 4 1 |
] , ;
93. If Q is the heat energy, determine the nature of the reaction in the following equation : !

Bots aSgRED ER0DS 356" Q @038 &3 #8 00, & 35 B8, g
2C,H, +70, - 4CO, +6H,0+ Q

(1) Exothermic (2) Endothermic
62;1;'1)"1‘55 . égm“n’)"é

(3) Both (1) and (2) (4) Can't be determined
(1) S080%o (2) Boter BedB850

94. In the equation given below, 100 g of CaCO, and 73 g of HCI are used to prepare 18 g of H
If 300 g of CaCO, and 146 g of HCl are used, then how many.grams of H,O is produced’

CaCO, +2HCI - CaCl, + H,0+ CO,
258 BScdS BavoHIE $8:6° 100 Frswe CaCO, H8akn 73 prdwe HCL D &3563°Rods 18 ra
o ) 3

n

, H,0 béﬂ)é.)?&). 2,.53¢ 300 (rswe CaCO,4 So8okn 146 (radwe HCL &IARoDD Q:h 000 B

DY
(1) 54 (2) 36
(3) 300 (4) 146
SPACE FOR ROUGH WORK /2508 055
|
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& R 01;15 " t@hejlfonomng is/are used to detect acidic or basic nature of a solution?
RO % o Sgerard) Hosrersd 808 096" BAD SATAIL?
(1)  Phenolphthalein

(2) Metals
dTIDS SEIes0en
(3]  Universal Indicator (4) All of these
BB D 259

96. Which of the following metal liberates H, gas on reaction with NaOH?
$08 TS 2 &5 NaOH & 156555708 H,, Tratoidd Deotso 30872

(’1‘/ Zn . (2) Ca
B Mg 4) Na

97. Which of the following can’t be used as X in the equation given below?
Acid + X — Salt + CO, + Water
29 BIGEN S556° D Sergo X T &5AArRoSBAN?

(Y Metal hydrogen carbonates (2) Metal carbonates
5 > EaS 5°6%3ey & 6%

(3) Both (1) and (2) ‘ (4) Metal hydroxides
(1) 2080k (2) Botkr &> TEHR

98. Tooth enamel is made up with
808 oD Go% Jorred F8 BAD $OR &oeoB?

(1)  calcium hydroxide (2) calcium phosphate
5900 Ir(EE D oo )

(3) calcium oxic:le ) (4~ calcium carbonate
sdabo 903_05 sdao 525335

99. What is the pH of the salt formed from weak acid and strong base?
DOPSRR e0 HBAML WOBB FEID 08 HES OIeaN dE, PH Devd Jod &0e0d?

1y 3 @ 9
3) 7 4 5

SPACE FOR ROUGH WORK /é58 eatn
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100. Who among the following did not propose atomic model?
208 TH8S° SELTED SJPT PBIBoDY T 3K 7

@) Planck (2) Schrodinger
o8 e&oesd

(3) Bohr (4) Sommerfeld
6 R8 DG

101. Which of the following electromagnetic waves has highest velocity?
08585 3o SORS DeogSeahimpds ssoko 287

() Violet (2) Green
& Solhd SV

(3) Red (4) All have same velocity
QY &) 2.8 Do EORAK00EID

102. Which of the following quantum numbers gives information about orientation of orbital?

@08 TS D sg0m0 Sogy eBery PR88 BRggSo 80D B3daHEN0B? 1I
J
I

(1) Principal quantum number (2) Angular momentum quantum number
BF Sgoevo Jogy §°Rap (i85 DK 5250820 JoRg
(3) Magnetic quantum number (43/ Spin quantum number
©AHAO SO0 PO R)® 5°50820 J0R)g |
103. The electronic configuration of element ‘S’ is

‘S’ &3 Jure¥o oaxgbae;g.s D0
(¥ 1s22s22pb3s23p* (2) 1s22s22p63s23p°
(3) 1s22s22p53s23p? (4) 1s22s22p63s23p!

104. The maximum number of electrons that can be accommodated in a subshell with angular
momentum quantum number [ is

16°San (553K 20000 Soayg ¥ORS 695K 6° HBJOM™ Oy O S0ESSN?
(1) 2n? @ 2(2A+1)

@) 2 @/ (21+1)

SPACE FOR ROUGH WORK /308 piiiw
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(1) Potassium (2) Chlorine

dreTra0DHo 5:85
‘3’/ Silicon (4) Sodium

: . _ . t
106. Which of the following periodic classifications is not based on the atomic weights of elements?
0B TS’ Sarese SESrE grin $BKEE'E BiuE'D sarese 5§56 67

(1) Dobereiner’s law of triads

w856 &% ?)m;oéﬁo

(2" Newlands law of octaves
Srgersoly egE dahiso

(3) Mendeleev periodic table
o&dS e8% 938

(4) Modern periodic table
&6OE 58S eI

107. An element with atomic number 14 has a valency of
14 38a77e20 Doy EORY Boreso cﬁngb;"&e)ﬁb

1 1 @ 2
(3 4 4 3

108. What is the family name of VII A group elements?
VIL A (0= Soresee 3%, $e002) T°:500 Je3?

(1) Alkali earth metals @y Alkali metals
55088 S50 58 S°Sfen

(3) Chalcogens (4) Halogens
U‘ésbaaa’)) T.ﬁ‘efm}ﬁ.)n
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109. Which type of bond is formed due to transfer of electrons between two dissimilar atoms?

Both S8 D IBATEVHO Bogss .ae@s SrBy& S O 853 wotso bda)damoﬁ?

(1) Electrovalent bond (2) Electrostatic bond
JOL%a“e?)oeS 2080 %5 :),5,3,5 208550

,[3{ Ionic bond (4)  All of these
"R 00 DI

, . {3 alent and
110. Which of the following is correct regarding the melting points of ionic, polar cov

non-polar covalent compounds?

%
@08 TV LAt {5y Sodredab S8k egys SodireRod SEEe GBooY), (SDFH RO 2y
Powogrd) NBrR WrdoWwI 8?2

m’ Polar covalent > ionic > non-polar covalent

&yd SoGTBACD > GALTE > 9D Hodreesah

(2) Tonic > polar covalent > non-polar covalent

QOS> Gy BOGIEBNAD > S HodreeoDd

(3) Ionic > non-polar covalent > polar covalent

oI > oD So@Bradod > &y Sodranoh

(4) All have same melting point

) 2.8 324553 o KOR éoeran

111. What is the hybridization in H,O molecule?

H,0 ernd) dng), 90585880 87

(;1/ sp? 2) sp

3) sp? 4) spid

SPACE FOR ROUGH WORK /2&508 PARRIY
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112. Which among the following theories explained both shape and strength of the bond in covalent

compounds?

Sodresdah bm‘q;ea Cﬁ).)gb eg‘)tben Bt 2o -ﬁf_..x) 1080 o
(1)  Electronic theory of valency

SoB) JogS deposo
(2)  Valence Shell Electron Pair Repulsion theory
VSEPR :cho@o
(3)  Valence bond theory
3023‘3 wol degoso
(4)  All of the above
onphr
113. Highest abundant metal in earth’s crust is
0™ S000s° egsPtor ofod &ro 282
(1) Al (2) Au
@ N, (4) Fe
114. Which of the following is not a sulphide ore?
808 o2& P8YE e 508 82
(1) Pyrolusite (2) Galena
Deugpss N
(3) Cinnabar (4) Copper iron pyrites
N%erB 558 08 DB
115. Which of the following ores undergoes roasting?
d e PPH0S® F T2
(1) Carbonate ores () Oxide ores
S5 oD &3E D
(3) Sulphide ores (4) AE of these
K)?‘JE. [ ali D)l E);jb&

116. Which of the following metals liberates H, on reaction with steam but not with cold water?
3063 DB S85ToBH0G, V3 8DBE’ 385T08 H,y TPauDd dese IH o 82
(1) Pb (2) Na

By ‘Fe - 4) K

SPACE FOR ROUGH WORK /De308 eiicin
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117. The number of sigma (0) and pi (n) bonds in C,H, molecule is
CoH, ee0Hes® aod Ty (0) 8ok D (1) wogre Rogyg

(1) 3 sigma and zero pi (31/ 3 sigma and 2 pi
3 vy $oBatd A D 3 By $Ban 2
(3) 2 sigma and 3 pi (4) 4 sigma and 1 pi
2 By 60 3 D 4 drry $08aio 1

118. Which of the following is not a conductor?
808 TS" Dty Ko 5796 D82

(1) Graphite (2) Carbon nanotubes
ees 88y & Fwren

(3) Diamond (4) All of these
J\es0 3_)55:)&

119. Which of the following is an unsaturated hydrocarbon?
808 TRS* eoths TIES G D2

(1) Butane (2) Butyne
Qe Q5B

(3) Isobutane {51)’".Cyclobutane
DRI ES DE TS

120. What does an oxidizing agent do?

esysBearen D Jowso?

(1) It reduces other substance and itself undergoes oxidation
288 oot K80 30800 e e K8erdE HEHEa

(2) It reduces other substance and itself undergoes reduction
65 ::mq;e:&’n £aD580 D080 @ EADHESETIS 1HEDHTE o

[3‘( It oxidizes other substance and itself undergoes oxidation
288 Sorpoied ino 30800 @D edsserds HEpErown

(4) It oxidizes other substance and itself undergoes reduction

288 Sorgrod edyKEe0 3080 B KoHESERDE HESErN
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